ELECTRONICS CO. :m.

EMERGENCY VEHICLE SOUND, LIGHTING & EQIUIPMENT

906-0236A Chevy Silverado Floor Mount

INSTALLATION MANUAL

CONTENTS

Unpacking e

Installation o

Warranty e

1

E-NN BE N I S I )

Return Policy e

REV 1 28/4/16



UNPACKING

Before beginning any installation, unpack the equipment received. After unpacking,
examine ALL components received for any damage that may have occurred while in
transit. If any damage has occurred, file a claim IMMEDIATELY with the courier stating
the extent of damage. Check ALL envelopes, packing slips, shipping labels and tags
before removing or destroying them.

To ensure your satisfaction, open all cartons and report any shortages within 48 hours

of receipt.

HARDWARE PARTS LIST: FOR MOUTING FLOOR MOUNT

Quantity |Description

6 1/4-20 x 5/8” Carriage Bolt

1/4-20 x 5/8” Hex Bolt

2
8 1/4” Flat Washer
8 1/4-20 Nylock Nut

VEHICLE PREPARATION
Removal of front passenger seat is required to install the floor mount.

INSTALLATION OF FLOOR PLATE
After removing the seat, align the slots on the floor mount to the hooks on the un-
derside of the seat rails. Install the seat back in place along with the floor mount.

Slots to be aligned
with seat hooks

Follow the drawing on the next page for securing the brackets to the floor mount.



REV. DEICRFTION

3x - 1/4-20 x 5/8" Camiage Bolt
3x - 1/4-20 Nylock Nut
| 3x - 1/4 Flat Washer

LT4600
Sold Seperately

Tie Down Strap 1

2x - 1/4-20 x 5/8" Hex Bolt Tie Down L Brkt [2x)

2x - 1/4-20 Nylock Nut
2x - 1/4 Flat Washe

Welding
Tie Down Strap Mnt

Additional Packing Hardware

Mnt Plate

By DATE APPRCVED

3x - 1/4-20 x 5/8" Carriage Bolt T 4x - 1/4-20 Nylock Nut
3x - 1/4-20 Nyleck Nut 4x - 1/4 Flat Washer
3x - 1/4 Flat Washer
HAME DATE __.ﬂ/.. £ ELEcTRONICS £O.. ~DPNDR-ANSEA SIEE
DRAWH i 13MOv1a | PR i A
Fath: Wisermerfile doba\ MECH ENG\MECH_DATANMNIG Loptop Maownf, 2014 Sivemado 1500
CHECKED AD TINCVI3 | Fre: s0s02284

THE INFORMATION COMTAIMNED
WITHIM THIS DRAWING 15
FPROPRIETARY AMND COMFDENTIAL.
AMD |5 THESOLE
PROFERTY OF Dand®
ELECTROMICS CO. LTD. [T MAY
HCT BE REPRODUCED AT WHOLE
R IM PART WITHCUT THE
WRITTEM PERMISSION OF Dandr
ELECTROMICS CO. LTD.

2.00

ho o 0O 0O 0 0O 0 O 0 cu Tie Down Strap 2

11.00

(o0 000000 oo o] TeDownStap]l

AMIEH

Midnight Black Wrinkle

Dafe: Thurday, Sepfemiber 04, 2014 8:29:25 AN

DESCRIPTION:

2014 Silverado 1500

LT66MK
WFGHO. CATALOG, MO,
F04-0234A KX

SO gy vy SHEET 1 OF |
MATERIAL i

12 ga CRS - 0



WARRANTY

D & R Electronics warrants its new products to be free from defects in material and workmanship, under normal use
and service for a period of one year on parts replacement and one year on labor.

This warranty applies only to original purchasers acquiring the product directly from D&R Electronics, or its authorized
dealers. Warranty will not be recognized without proof of purchase or bill of sale.

This warranty is not transferable.

The warranty begins on the date of delivery to the first user/purchaser.

This warranty shall not apply to products which must be repaired due to normal wear and tear, negligence, improper
installation, abuse, misuse, or which have been altered or modified at a facility other than D & R Electronics, or its au-
thorized depot centers.

Units proved to be defective within the warranty period, based on an examination by D&R Electronics, will be replaced
or repaired at D & R Electronics’ option. This warranty does not cover travel expenses or labor charges for removal or
installation.

Lamps, flash tubes, batteries or other items considered consumables are not covered under warranty.

This warranty is in lieu of all other express warranties. D&R Electronics makes no warranties, expressed or implied,
other than the express warranties contained herein.

PRODUCT RETURN POLICY

In order to provide you with faster service, product returns for repair or replacement, must have a Return Goods Author-
ization Number (RGA number). Please contact our company to obtain a RGA number before you return the
product to D & R ELECTRONICS. Write the RGA number clearly on the package. Be sure you use sufficient packing
materials to avoid damage to the product being returned while in transit.

D & R ELECTRONICS assumes no responsibility or liability for expenses incurred for the removal and/or the installa-
tion of products requiring service and/or repair.

Repairing or replacing product is at the discretion of D & R ELECTRONICS.

D&R ELECTRONICS Co. LTD.

CANADA USA

8820 George Bolton Pkwy. 2321 Kenmore Avenue
Bolton, Ontario L7E 2Y4 Buffalo, NY, 14207
Tel.: (905)951-9997 Toll Free 1-800-538-7338

Fax: (905)951-0019
www.dandrelectronics.com



